i

mu._mmvz<Oﬁ_

B e ———— |
(5207 ozl - otaul) opoliad _<
soi8a1ulas A opezijeiape) 01528 ap oUISAL A 01515 IS0 O3TLI0S
o3ueda33] ap oiddiuniy / o8jepiH m>_pm.a_uwm nepiu

000$ €1°0T9'8T2'TS |€T'0T9'8TTTS V.10L =
0003 00°S¥9'SES 00°579°SES T ©soinlyap ep ousiwudlueiy|  4@-NAWYINO04
0003 85°G/S'06T'TS |85°S/S06T'TS 221433 18433 3p 0INIBS 40-NNNYLYOA
00°0% LESYV'I6TS  |L£8Ppo6TS  [41524191 0dinba A sojnoiuaa sajuedtiqn A mm_gEEEou_ 4G-NMIAY.LE04
00°0$ 8UTV6's6LS  [eiTwe'sess | SOpRNS| T JG-NNYLY03
oavovd | odvonAza | |
EESUIER . o.M ~ sosinday so| ap oc:fo T o_ucouFOmro._moi
g |



0003 0003 0005 WIOL[ o JINTIVE

00°0$ 000$ 00'03$

00°0$ 00°0$ 00°0S

00°0$ 00°0$ 00°0$

00°03 00°0$ 00°0$

00°0$ 00°0$ 00°0$ i

00°0$ 00°0$ 00°0$

00°03$ 00°0% 00°0$

0003 00°0$ 00'0$

00°0$ 00°0$ 00°0%$

00°0$ 00°0$ 00°0$

00°0% 00°0$ 00°0$

00°0$ 00°0$ 00°0$ ]

00°0$ 000$ 00°0% B = |

0005 00°0$ 00°0% o [

00'0$ 00'0$ 0003 B i

00'0$ 00'0$ 000s R B T

00°0$ 000$ 00°0$ - - o

00°0$ 00°0$ 000$ ugepijeA 5p 05320.d U3 SZOT SBI90 wsivi
0avovd OQVON3IAIQ j.!ii!l.ﬁ - - - tfpiflii

0Jdaju1ay o121243(3 $0SINJay SO| ap oulisaq i Opucy 0 ewel304d

(szoz ozze

- oJau3) opouad |y

soidajuial A opezijelapay 01sRS 3p QUl3SSD A 015105206 oD L3I0

o8uede1a) ap oiddiunyy / 08|epIH eAlBISR4 P

EpiiLl



